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“ 'In an examination, average marks of a student per paper were 71. If he would have obtained 35 more
marks in sciences; 11 more marks in history and 4 more marks in computer science, his average marks per

paper would have been 76. How many papers were there in the examination?

UH Q8T A, Ufad 99T Uh BT & A9d 3+ 71 &1 3T 98 @ & 35 3R I+ sfaga &
11 3R 3% dU1 FYR [AAT A 4 3R 3F Ieg F@1, aF 376 9fad 7a97 39d 37 76 3|
qfieT & g goagqT A [SSC CGL MAINS 2020: 29 JAN 2022]

a)l5

o1 01:00

(c)18
(d)10



'G is the centroid of a triangle ABC, whose sides AB = 35 cm, BC=12 cm, and AC = 37 cm. The length of BG

is (correct to one decimal place):

GTF ¥ P ABCHF Fgw g, FHWH HATT AB =35 cm, BC=12cm HAC=37cm | BG A a1

a)11.7 cm
b) 12.3 cm
c) 12.9cm ['IBB]

d) 17.5 cm



"0 is a point in the interior of AABC such that OA=12cm, 0C=9cm, ZAOB = ~BOC = ~COA and 2ABC=60°.

What is the length (in cm) of OB?
oww fag ¥ Y AABCH 3eT 3H WK ¢ f& OA=12cm, 0C=9cm, LAOB = £BOC = £COA 3R

£ABC=60° g1 OB &Y oTa1S (cm H) fFa=it 8?2 [SSC CGL MAINS 2020: 29 JAN 2022]

(a) 6vV3
(b) 4v6

(c) 4v3 ['Im

(d) 6v2



‘ A covered a distance of 240 km at a certain speed. Had his speed been 8 km/h less, then the time taken
-would have been one hour more for covering the same distance. How much time (in hours) will he take to
cover a distance of 480 km at his original speed?

AT fARTT arer ¥ 240 km &Y g T FIAT g1 I WA T 8 km/h FH T, A 38 g -+t

dq FIA A T °el HAH AT @1l 98 A9l A a1l & 480 km T qff dF I A fohcer
HAY (TSt A) d9m? [SSC CGL MAINS 2020: 29 JAN 2022] 4

(a) 8

)10 01:00

(c) 11
(d) 9



ABCD is a quadrilateral in which AB || DC. E and F are the midpoints of the diagonals AC and BD,

respectively. If AB=18 cm and CD =6 cm, then EF=?

ABCD U% Tl & faw# AB || DC. E3R Faer: st Ac 3R BD & #eafaqg 1 afe AB=18
A 3k cp=6 A, aY EF=? [SSC CGL MAINS 2020: 29 JAN 2022] ,

(a) 8 cm

(b) 6 cm

(c)12 cm ['IBB]

(d) 9 cm



‘ A loan is to be returned in two equal yearly instalments. If the rate of interest is 10% p.a. compounded
annually and each instalment is X5,808, then 60% of the total interest (nearest to a X) charged in this

scheme is:

UHh RUT S &I FAT dI¥e freal & aaw Far sm=r g1 afg sarer fr e s 10% & s &
aIf¥s §7 § IHhge gidl § AR IA+ fed 5,808 #1 ¢, 39 Aoem # AT o= a@ Fo
AT T 60% (X & AFedd) A H [SSC CGL MAINS 2020: 29 JAN 2022]

(a)917

(b 011 01:00

(c) 913
(d)922



’A and B can do a work in 26% days. B and C together can complete the same work in 48 days, while A and C

together can complete the same work in 30 days. How long (in days) will A alone take to complete 60% of
the work?

AR B RATET vF F # 26; el # F wFA §1 B3N ¢ WAy sHiFw # 48 Rt A qu
HT Thd 8, JAa1% A ¢ AaaT 346 &1 F 30 RAT AW & F6d ¢ AFF 38 F17 &
60% ST I U HIA A fhdenn 777 (&=t A) oo [SSC CGL MAINS 2020: 29 JAN 2022] 4

(a) 20
(b) 32
(c) 24
(d)36




1

f2x2 +5x+1 = 0,then one of the values of x ——'?
e 2x2+5x+1=0 %a’rx——a?rm?ra-'zrra’mr?

(a) v17 /2

(b) 13/2 '

- 01:00
(d) v13/2



'If a, b and c are positive numbers such that (a + b?): (b? + ¢?): (c*+a*)=34:61:45,thenb — a:c — b: c —

a' = L

g a, b3 c AT VY UstTcHAS TEAT § & (a?+b?): (b2 +c): (2+a?)=34:61:458 dl b —a:c —
b:c—a=___ | [SSC CGL MAINS 2020: 29 JAN 2022] 4

(a) 1:2:3

(b) 2:1:3 ['IBB]

(c) 3:1:2
(d) 3:2:1



SSC 2022+CGL+CHSL+-CPO / EA at 06:30 PM

A discount of 10% is offered on the price of an article if the payment is made online. An additional
“discount of 5% is given to credit card holders. A person wishes to buy a watch priced at 60,000 by paying
online through credit card. How much does he need to pay (in X)?

Ife S[ITaTeT AHieAense fham Srar § a F avq fr FAad W 10% Fr g & I F HEE F13
4R H 5% 1 FfaReFa ge & It ¥ v afFd FEe F18 F Aregw @ AT erarn
FTh 60,000 T HFAT arell TSI TG TEdT g1 3§ fhden rd= (X H) FTa R

[SSC CGL MAINS 2020: 29 JAN 2022]
(a) 62,150 ['Im
(b) 51,300
(c) 61,250
(d)53,100



